
Hardware only

Page 1

Material List for 3D Printed Parts
Part Description Quantity Part Number
6-32 x 1 3/8lg screw PA heat sink fan mount 4
6-32 nuts PA heat sink fan mount 4
M4x0.7mm 10mm lg set screw MFC Knob, preinstalled 1
#4 x 5/8 stainless steel self tapping screw Mount cooling fans 12
#4 x 3/8 steel self tapping screw Mount Feet and fan brackets 12
#4 x ¼ steel self tapping screw Mount RPi fan shroud 2

#4 x 3/8 stainless steel self tapping screw 4
4-40 x ¾ screw Display and HDMI jack 6
4-40 self locking nuts Display 4
4-40 nuts HDMI Jack 2

90272A338
90480A007
92605A115
97975A122
90380A108
90380A106

mount PCB to cooling fan 
mount brackets 97349A100

90272A113
90675A005
90480A005

https://www.mcmaster.com/90272A338
https://www.mcmaster.com/90480A007
https://www.mcmaster.com/92605A115
https://www.mcmaster.com/97975A122
https://www.mcmaster.com/90380A108
https://www.mcmaster.com/90380A106
https://www.mcmaster.com/97349A100
https://www.mcmaster.com/90272A113
https://www.mcmaster.com/90675A005
https://www.mcmaster.com/90480A005

	Hardware only

